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The tourism industry is one of the fastest growing industries in the world. On a local,
national, and international level, tourism is economically significant. Yet, tourism has
triggered a lot of environmental issues because of many ways people make their marks as
tourists. The depletion of natural recourses, among the various issues, is particularly
noteworthy. The depletion of natural resources is a growing concern especially in places
where resources are already scarce. Water, in particular, is considered a critical natural
resource. In general, water is overused in places such as hotels, swimming pools and golf
courses. Golf tourism has gained popularity, but the maintenance of golf courses requires
large quantities of water, which can lead to water scarcity. Tourists also tend to overuse
water for personal use, resulting in larger quantities of waste water and water shortages.
Water scarcity is an even bigger concern in dry and hot regions such as the Mediterranean.
Tourists have the tendency of consuming more water when they visit places with a hot
climate. According to the United Nations Environment Programme (UNEP), tourists can use
up to 440 liters of water per day. The tourism industry can also put pressure on land
resources such as minerals, fossil fuels, fertile soil, forests, wetlands and wildlife. More and
more tourism and recreational facilities are being built, but their construction can pose a
threat to wildlife and local ecosystems. Land resources, such as forests, are also impacted
when used for building materials or collected for fuel. Tourist attractions and
accommodations are also heavily reliant on energy resources for heating, hot water and
electricity.

1. In the passage above, the word depletion is closest in meaning to
(A) reduction (B) malfunction (C) acquisition (D) capacity

2. What does the writer say about golf in the passage?
(A) Golf tourism is getting more and more popular as a form of ecotourism.
(B) The management of golf courses takes great amount of water.
(C) Golf players tend to drink more water than they need when playing golf.
(D) As a rule, water is never overused in golf courses.



(98}

As the passage points out, the construction of tourism facilities can
(A) lead to water scarcity.

(B) prevent the depletion of natural resources.

(C) pose a threat to wildlife.

(D) help develop local areas without causing harm to the environment.

Which is true about tourists traveling in places where the climate is hot?
(A) They spend more money on accommodation.

(B) They are more likely to consume more water.

(C) They are most responsible for the loss of land resources.

(D) They particularly love to use recreational facilities.

According to the passage, which of the following statements is NOT true about tourism?
(A) Tourism has given rise to many environmental issues.

(B) Tourism can put pressure on land resources

(C) Tourism has little to do with ecology.

(D) Tourism is of importance in terms of economy on a national level.

When the fire fighter walked out of the burning house with the crying baby in his arms,
he was as a hero by the crowd.
(A) cautioned (B) doomed (C) previewed (D) hailed

With her nine-to-five job, Sally sometimes has to run personal during the lunch
break, such as going to the bank or mailing letters.
(A) errands  (B) connections (C) affairs (D) belongings

Traditional Chinese medical practices include remedies, which use plants,
plants parts, or a mixture of these to prevent or cure diseases.
(A) herbal (B) descriptive  (C) frantic (D) magnetic

As May finished the last drop of the delicious chicken soup, she licked her lips and give
out sounds of
(A) affection (B) explosion (C) contentment (D) dominance



10. The new manager is very . For example, the employees are given much shorter
deadlines for the same tasks than before.
(A) persuasive  (B) tolerable (C) suspicious (D) demanding
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